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MASS AND COUNT NOUNS [N ENGLISH

Pi-fen Liu Chen

i. INTRODUCTION. This paper discusses the countness of nouns. For L2 (second
" language) learness, in making the choice of a, rhe or the zero article, ¢, a question to
ask is, ““Is this a count noun?”’ For a count noun, the choice of articles is a/the (+ N)
or ¢/the (+ Ns); for a non-count noun, the choice is ¢/the (+ N). This correlation of
count and non-count nouns with articles is illustrated in the following examples:

(1) [ have a/*$book on fish.

b, Thave *ajg books on fish.
The book/books t bought today was/were on fish.

L

{2y a I'mlooking for *a gold.
b.  Pmlocking for gold /*golds.
c. The gold/*golds T found is/*are worth millions of dollars,

{1} shows that a count noun like book, if singular, must cooccur with 4 as in {1a),
or with the as in {lc¢); if plural, it cannot co-occur with ¢, as in {(1b). A plural count
noun must co-occur with either the, as in {ic}, or the zerc article, as in (1b). (2)
shows that a non-count noun like gold cannot co-occur with the plural morpheme “-s”
nor with &, but if can co-occur either with the zero article or the.

Because of these systematic co-occurrence restrictions, L2 learners can narrow
down their choices of articles if they can decide whether the noun in question is count
o1 non-couitt, To better understand what is involved in determining whether a noun
is count or non-count, we need to know the semantic distinctions between these two
kinds of nouns, and understand the switching back and forth between count and
non-count meanings of the same noun.

It is concluded in this paper that if L2 learners know the distinctions between
count and non-count nouns, they de nof have to leamn separately for each noun
whether it is count or non-count. Instead, what they have to learn is only two types
of nouns. The first type is always non-count. The second type is always count. The
rest of the nouns can be used either as count or non-count, depending on context.
Here the semantic count/non-count distinction can be of help to the L2 learner in
deciding when a noun is to be used in 2 count sense and when to be used in a non-
count sense. Principles for the conversion of count nouns into non-count nouns and
also the opposite are offered as guideposts for L2 learners.

Section 2 addresses the count/non-count distinction. Section 3 deals with the
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degrees of countability.  Section 4 is about count/non-conat conversion. Finally,
scction 5 discusses some unmplications for L2 iearners.

2. The MASS/COUNT DISTINCTION. lespersen {1524, p. 198) called non-count
nouns “‘mass words” and he gave them this definition:

There ate many words which da not call up the idea of some definite thing with a certain
shape or precise timits. [ call these “mass words™: they may be either material, in which
case they denote some substance in itsell independent of form, such as sifvar, quicksilver,

water, butter, gas, air, ¢le., or else inmaterial, such as lefsure, music, traffic, suceess...

Jeospersen’s definition of mass words scems to be vague because we can never know
for sure what idez is called up in the mind cf a speaker of a language. Further, there
are things which come in similar shapes, but the nouns which denoie them are of
diffcrent status. One may be a count noun and another a mass noun, Asparagus and
carrots are an cxample of this kind.! 1They come in similar shapes, but the noun
asperagus is a mass word and the noun carrot is a ceunt nouin. Given the fact that they
are similar in shape, we are not surc whether or not the two werds wilt cali up different
ideas about their shapes in the mind ol language sepakers Just because one is count and
the other is mass. That is, will asparagus, being 2 mass noun, fail (o call up the idea of
something with 4 cerizin shape or precise Himits? In 2 broader sense, we are not sure
whather or not language affects the way we see the world, This is another dilficulty
that Jespersen's definition of mass words encounters.

Jespersen was not the only one who assumed that the massfcount distinction is
simply in the nature of the ihings referred 1o, Whorl was another one who held
basically the same position. Whorl (1956) divides nouns denoting physical things into
two catcgorics: individual ncouns and mass nouns.  His remarks on the distinction
between the two are: “Individual nouans denote hodies with definite outlines... Mass
nouns denote homogeneous continua without mplicd boundarics”™ {p. 140). To
cxplicate his point, he gave the following example. When we want te fulk about
only a certain portion of the homogeneous continuum of a mass noun, say mlk,
water, or suggr. we have to individuate the mass noun by an individual noun like
bottle, cup and fump, as in a bottle of milk, a cup of water, a fump of sugar, elc.

Whorf’'s rcmarks on the mass/count distinction, like Jespersen’s, arc subject to
altack. If the distinction is simply in the things referred o, a noun which rcfers to
an identical entity through differeni times should be always mass or always count. The
development of the linglish language, however, shows that there arc nouns which were
mass earlier in history but later hecame count. Peg and cherry are two historical
examples.? The former comes frem pease and the latter [rom cherisé. Bolh pease
and cherise were mass, but because they sounded liks a plural, people took pea as the
singular of peuse and cherry the singular of cherise. Thus peg and cherry became
cournt nouns. For nouns like these two, being count is nothing but a historical accident.
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Are there better theories for the mass/count distinction? Quine (1960, p. 913
claimed that shoe, pgir of shoes [count] and foorwesr [mass] refer to basically the
same siuff, and are different from one another selely in how thoy divide their re-
ference. Both shoe and pair of shoes divide their refercnce, diflerently. But footwear
docs not at all. Quine claimed that the mass/count distinction lies in the words them-
selves and not in the stuff they name. Count nouns individuaate their reference, but
mass nouns do not,

McCawley (1975} illuminated this distinction further by arguing that “the mean-
ing of a count noun specifies an individuation, whereas the meaning of a mass noun is
neutral as to individuation” {». 314}, Cne of his examples is cold and fli. The {ollow-
ing facts are given to support his contention: {p. 317)

(3) a. [havea cold.
b.  Thave a case of the flu.

B

Do you have the same cold/#1lu thal you had last week?

(4}
Do yvou have the samne case of the flu that you had last week?
He says that “a cold is a ‘case’ of a particular infection™ {p. 317}, and argres that the
ceuntness of cold can be atiributed to an individuation specified in its meaning. In
conirast, the word flu docs not individuate its referent, and hence when we are tatking
about a particular case, we cannol say 1 have a flu”; instead we have to say (3b),
using an additional unit word like case.

In sum, according to Quine and McCawley, count nouns differ from mass nouns
in that the former, but not the latter, include an individualion in their meaning. This
theory does not have the shortcomings of JTespersen’s or Whorl™s. i the mass/count
distinction lies in word meaning, and not simply in the nature of the things referred
1o, the historical development of pea and cherry can be explained as a change in word
meaning.  We can say that an individuation for their reference was added to their
word meaning zt a certain point in history., And for the question why carrots is count
and asparagus 18 mass, we can say that it is because the former includes an individua-
tion in its meaning, but not the latter. 1t has to be admitted, howcever, that the corres
pondence between {orm and meaning is arbitrary. That is, we still cannot explain why
the word carrof, and nol the word asparagus, includes an individuation in its meaning.

This mass/count distinction expiains why twoe words like surgery and operation,
although similar in meaning, can be different in couniness. To most native speakers
of English, the word surgery denoctes the treatment of injuries and diseases by opera-
fions and hence in this usage, it 18 & mass noun; whereds operation denotes the act
performed by a surgeon and hence i is g count noun, Wote that acts are relatively
casier to individuate than treatment. Many Chinese learners of English do not know
that surgery is a mass noun because when they are learning this word, they fail to leam
ils exact meaning, which does not include an individuation for its reference,
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For abstract entitics such as surgery and operations, L2 learners cannot decide
whether the nouns which denote them are count or mass simply by logical reasoning.
Howecever, for nouns which refer to physical objects, therc is 2 relatively reliable
fendency. If a noun refers to a discrete object, i.e. an object with definite outlines or
a certain shape, it tends to be a count noun. Things like cars, houses, chairs and tables
are discrete and couniable and hence the nouns refer to them tend to be count. On
the other hand, if a noun refers to an object without a natural boundary such as water,
air, milk, cotton, and sand, it tends to bc mass. Here, we scc that fespersen and
Whorf are not totally wrong.

Yet in English, we do have nouns which do not follow this tendency. Asparagus
is such a word. McCawley (1975) gave us some more examgples of this kind:

Count Mass
noodles spaghetti
onions garlic
beans rice
chairs furniture

McCawley pointed out that rice comes in grains, which are countable; nevertheless
the word rice 18 a non-count noun. Similarly, there is no physical reason why noodle
is count and not spaghetti.

Nevertheless, an explanation was given by Markman (1985) as to why words such -
as fummiture which apparently refer to discrete objects arc non-count., Markman
explaincd why many superordinate category terms, ie. category terms of relatively
high levels (e.p. furniiure, jewelry, mowney), are mass nouns although conceptually
they refer to diverse, discrete, countable objects. Let me take money as an example.
Although we say, as many fairy tales go, “The king is counting his money in the
palace”, the word monep is itsell a non-count noun. If we can couni money, money
must refer to countable objecis, Why is it a mass noun?

Markman’s explanation was that mass nouns have the property of being a com-
promise between “colicclions” and “classes” and this property helps children to learn
supcrordinate category terms. “Classes™ have an inclusion structure; for cxample, all
roses are flowers, but not sll Nowers are roses. The inclusion structure expresses the
“is a” relation. A rose is a flower. A doll is a toy. [n contrast, “colicctions’ have
a part-whole structure; for cxample, a tree is a part of a forest, hut itsclf is not a forest.

Markman said that studies showed that children find it simpler to learn the part-
whole structure than the inclusion relation. But collective nouns (e.g. family, army),
said Markman, cannot be superordinate category terms because they do not express
the inclusion relation. A soldier is a part of an army, but himsell is not an army.
However, a chair itsell' is [urniturc. A coin itsell is moncy. Superordinate category
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terms like furniture and money nced to express the “is a” relalion. Markman argued
that mass nouns can he viewed as 2 cempromise between part-whole and inclusion
rclations. A picce of clay is part of the whole mass of clay and each piece of clay is
itsclf clay.

Markman’s studies showed that children, at the age of 4, were better able to learn
a new calegery such as “vchicle” if they heard A car is a piece of vehicie” rather than
“A car is a vchicle” {p. 313, Markman’s conclusion was that “languages tend o use
mass nouns to refer to superordinate categories because it helps children to leam
them” {p. 51).

If Markman is right, 1.2 learners can expect English to evolve in the direction of
regularizing all English category terms of relatively high levels to be mass nouns. Thus
the learner would have 4 good rule to follow.

To sum up this section, the mass/count distinction lics in the meanings ol mass
and count words themselves: the latter specifies an individuation, but not the lormer.
As 4 consequence, count nouns normally denote entities with a certain shape or
precise limits; whereas the reference of a mass noun is normally a homogencous con-
tinvum and not individuated. Being mass or count is part of the meaning of a word.

3. COUNTNESS OF NOUNS. Although traditionally nouns are classified into two
types, count and mass, there arc complications in that the distinction between the two
is not a simple binary one. In the very beginning of this paper, it was noted that count
nouns admit the singular article af#/), but mass nouns do not. Yet it is found that
there arc mass words which nevertheless allow af ) and there are count words which
do not allow aln). '

Allan (1980) challenges the traditional binary-feature notion of countness, which
assigns either {+count| or [-cocunt] 1o a given noun. He claims that instead of two,
there are eight levels of countability: (p. 563)

REPRESENTATIVE PERCENTAGE - LEVEL
car 100 7
oak 82 6
cattle 50 5
Himalavas 44 4
SCiSSOTS 40 3
mankind 26 2
admiration id !
equipment G ¥

This chan indicates that a word like car is 100% countable, 2 word like oak is 82%
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countable, and a word like equipment is 0% countable. 1f a word 1s 0% countable, it
is on the lowest countabibity level, 0. In contrast, if a word 15 100% countable, 1t is
on the highest countability level, 7.

Allan computes the countability of words by trying them against four tests, In
the following, 1 will take as examples five words from the above chart, car, oak, catile,
markind and eguipment to dlustrate what Allan’s countability tests are and how
these five nouns behave in different envirornmennts.

(y A+M  Test: tosecifthe form “gfun + N” is grammatical or not, e.g.:

{5} a. Acarisaconvenient vehicle for transportation.
b. Anouk isa tree.
c.  *lsaw g carile in the ficld,
d. T'd like o see @ mankind Tull of charity and sweetness.

c.  *An equipment in our lab was destroyed by the fire,

(iiy F{uzzy)+ Xs Test: to see i a noun can be preceded by a fuzzy denumerator such as
several, many, about fifty, c.g.

{6) a  Several cars were crushed in the accidend.
b. Muny oaks were chopped down by the boy.
¢ Lsaw ahout fifty cattle in the field.
d. *[ have met with several mankinds and they are all different.
c. *Several equipmenis in our lab were destroyed by the five.

I'rom (5) and {6} we see that car and cak pass both (i) and (ii) tests. On the other
hand, equipment [ails in both tests. In {(5¢} we sce that cartle fails in the A + N Test,
but in ( {6¢) we sec that it passcs the F + Ny Test. Conversely, mankind puasscs the A
+ N Test, as shown in (5d}, but fails the F + Ns Fest, as shown in {6d).

{ifiy  Ex{wernal}-Plfural)  Test: to see if an NP governs plural NP-exiernal number
registralion, ¢.g.:

(7Y a.  TFhose cars gre wonderful and 1 like them all.
h.  Ogks are deciduous, aren’t they?
c. Those cattle are dving for lack ol water, aren’t they?
d.  Mankind ave cxpecled to give an account of themselves before God, aren’t they?
e. *lguipmenifs)are cssential, arci’t they?

{7y shows that all the five words cxcept eguipment pass the EX-PL Tesi.

{iv} All+NTest: toseeif the form
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Sl + N+ Vsingular™ is grammatical or not, e. g

(8} a. AN car is convenicnt vehicle for transporiation.
b, AR oek is flammable,

c. *All cattle is dying for lack of water.
d. Al mankind is rationsl.
c. Al equipment in ouy lub was destioved by the fire,

(8} shows that oagk, mankind and equipment pass the A+ N Test; whereas car and
cattle ail in this test.

Among the four tests, the All + N environment (Test (iv) above) is an uncount-
ablc onc whereas the other three are countable, To compute the countability of
neuns, Allan gives a plus to a noun 1f it passes a countable test {Tests (i-111) and he also
gives a plus when a noun fails the non-count test {Test {iv) ). Lguipment fails in all
the three count tests, and passes ihie non-counl one. Hence it receives no plus and is
0% countable, For nouns of this category, there is no probiem for us to assign the
feature [-counti to them. However, words on Level 6, like ogk, pass all of the count
able tests and also the non-count one. In terms ol feature assignment, which feature,
[+eount] or [-counti, shall we give to them?

The four countability tests show thal words on level 2, like mankind, pass the
All + N Test and thus are non-count, but they admit the indefinite articic, which non-
count nouns normally de net. And they pass the EX-PT, Test {ie, take a plural verb
or plural pronoun), which again non-count nouns normally will fail. Are they count
or mass? The rcader mighl suggest that we can freat words like mankind as either
mass or count. Yet this treatment cannot rule out bad forms like several mankinds.

On the other hand, aithcugh werds on level 5, like carile, fail the uncountable
All + N Test and thus they are not non-count nouns, they do not admit the indefinite
article, which couni nouns normally do. We cannet simply assign [+count] to them.
We have 1o say, in addition, that they never lake the indelinite article.

Being the opposite of words on level 5 (e.g caitle), words on level 1) like admira-
tion, heat, sincerity, darknesy {derived nominals), and physics {names of sujects for

1

study) pass the uncountable Al + N Test and hence are non-count. Like typical mass
nouns, nouns of this calegory do not admit fuzzy denumerators; nor do they govern
plural NP-exiernal number registration. However, unlike typical mass nouns, they
admit the indefinite article. Some examples arc as follows: '

{9} 4. A physics In which encrgy is {ost rather than transferred is quite inconceivable;
where would the energy go to?
“h. FThere are severad physics:  geophysics, astrophysics, nuclear physics- and 1
don’t know what clse.
{Allan, 1980, p. 550}
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¢.  ¥Those physics are all difficult lo study, aren’t they?

For (9b), if we say “several tvpesikinds of physics” instead of “several physics”, the
sentence will become well-formed,  Similarly, in (Sa), @ physics means ‘a kind of
physics’, but the indeflinite article itself without kind of does the job. Herc we see a
differcnce hetween the indefinite article and fuzzy denumeratoss.

Derived nominals like keat and darkness behave similarly.

(10} A dry heat is so much more bearable than ¢ damp heat.

(11} a. *Wegot up in a darkness.
b, We got up iu a pitchy durknesy.
c. Anoppressive darkness hung all around us.
{Allan, 1980, p. 539)

in (11a) wé scc that durkness does not behave like an ordinary count noun since it
cannot co-cccur with the indefiniie article. However, in (11b) and {11¢) we sec that
with 4 modifier, pirchy and oppréssive respectively, the indefinite article becoimes
acceplable. Similarly, in {10}, the two occurrences of the non-count noun keat, with
the modificrs dry and damp respectively, become countable. Allan describes this kind
of usage as “referring 1o instances or occasions of particular note™ (p. 539).

The preceding usage of ¢ was treated as onc of the importani functions of English
articles in Frank’s (1972} excrcises for non-native speakers. He comments on this as
follows: (p. 160}

In some seniences, noncouniable abstract nouns with adjective modificrs may be used

with . En many such sentences g 1s the equivalent of 2 kind of.
If we use a kind of instead of a in (10)Y and {11b-¢), we get:
{12} A dry kind of heat is so much more bearable than a damp kind ol heat,

{13) a. Wcgotupina pitchy kind of darkness.
h.  An oppressive kind of darkness hung all around us.

Does this mean that ¢ kind of 1s a rceliable fest for using @ with abstract mass nouns
modified by adjectives or relative clauses? Consider:

{14} a. He provided us with a kind ol infonnation that only insiders can.
h. This is a kind of ¢vidence that could be used to persuade people to believe in
trod.
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If we delete kind of, both (144) and (14b) become ungrammatical, as shown in {15):

(15} a. *He provided us with an informatin that only insiders can.
b. *This is an evidence that could be used to persuade people to believe in God.

Frank’s ruic does not ieli us when a can replace ¢ Aind of, Allan’s eight levels of count-

ability tell us that this occurs when the noun in qucstion is on level 1 {(e.g. darkness,

heaty. Words on level G, jike informarion and evidence, can never be used with a.
Motice thai we can drop the mdefinite articic in both {10) and {11) and we get:

{10} Dy hear is so much more hearable than damp hear.

(117 a.  We pol up in darkness.
b. We gotup in pitchy davkness.
c. Oppressive durkness hung all around us,

in (107 and (117 we sce that after the dropping of the indefinile article, ail the gram-
matical scntences remain well-formed and the ungrammaltical one, (11a), becomes
acceptable. Nevertheless, if we have restrictive relative clauses modify the underlined
NP’s, the indefinite article has to be put back again. Take {117 for example:

{16) a.  Wegot upina/*¢ darkness that was rcally scary.
h.  We got up in a/*¢ pitchy darkness that was really scary.
c. An/*¢ oppressive darkness that was really scary hung all around us.

Restrictive relative clauses scem to have a sironger effect on individuating the whole
mass ol darkness into different tvpes than prenominal adjectives. Perhaps this is why
the indefinite article is obligatory in (16), but optional in {1 1b)and {{1c).

Besides dervived nominals ke darkness, and hegi, and names of sujects for siudy
like physics, Allan gives Enelish, as a name for a language, as an example of words on
level 1, i.c., abstract mass nouns that admit a:

{17} He speaks an English that [ can barely understand at all; and 1 was born in London.
{p. 558}

Some native speakers find (17}, with the proper name Epglish turned into a count
noun, not acceptable. There is definitely ne problem jf, instead ol {17}, we say

(18) Hespeaksa kind of English thal 1 can barcly understand at all; and I was bomn in
London.

This indicates thay a language change, moving &ngilish from level G, where mass nouns
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can never be used countablj/, to level I, where mass nouns with modifiers can co-occur
with @, is not yet complete.

To sum up this section, Allan’s discussion shows that the grammatical correlates
of the mass/count distinction are complicated by the fact that this distinction is not a
simple binary one. There are words like caftle which arve {+count] except that they
do not admit the singular indefinite article afn). There are words like heat which
are [-count] except that they admit afn/} under certain circumstances. Further, there
are words like ogk which are either [+countl or [-count]. Allan’s four tesis of couni-
ability, however, are of little help to L2 learners because the grammaticality judge-
ments are exactly what is in question. Further it would be a great burden for L2
learners to learn which word falls on which level, so the existence of the levels is of
liftle help. In the next section, I will discuss an alternative to the solution to the com-
plications of the massfcount distinction offered by Allan.

4, MASS/COUNT CONVERSION. The mass/count distinction, as has long been
observed in the literature, is better taken as a distinction among word-senses, or ways
of using words, rather than a distinction among words themselves. A good ilkistra-
tion of this point is found in nouns which denote either the animal or its flesh as food.
For example:

{19) a. [Idon'teat chicken because 1 like chickens.
b. Lamb is delicious and lambs are lovely, too.

The singularity and plurality of chicken and lamb in (19) are determined by the
different senses of the same words; and in turn, the grammatical correlates reveal the
different senses of the words. When referring to the animal, chicken or lamb denotes
a discrete countable object, and hence it is used as a count noun and thus has to take
the form “gfthe + N” or “¢/the + Ns”. In contrast, when referring to the flesh of the
animal as food, lamb or chicken becomes non-count and thus has to take the form
“@lthe + N,

Besides the above animal/meat example, we have a lot more instances of shifts
in sense leading to shifts in countness. Jespersen €1924, p. 199) gives us the following
examples:

a parcel in brown paper state papers
fittle talent few talents
it is hard as iron e hol iron (flat iron)

Ware (1979) in “Some bits and pieces” gives more examples of this kind:

(20} a. Hispolitics are atrocious.
b. Politics is not his bag.

(p. 16)
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(21} a. His faculties are infact.
b. how much faculty he has for the project

{p. 17}

{22) Many glasses do not have any glass in them.
{p. 17

From these examples we see that many English nouns have both mass and count
meanings. According to Allan’s computation, these words, like oak (wood/tree), will
fall on Level 6, with 82% countability. They pass all the three count tests and also
pass the non-count test. In other words, they are either {+count] or [-count]. It is
suggested here that words like these be treated as two words instead of one. Take
the mass/count--meat/animal words as an example. Chicken is a name for both the
animal and the meat. Yet as in the case of pork/pig or mutton/sheep, it could have
been the case that for chicken too the animal and the meat were named by two dif-
ferent words. The word that named the animal, a discrete object, would be a count
noun and the word that named the meat would be a mass noun,

Another example is found in the language/people words such as Chinese, ltalian,
and Greek. When referring to the people, the noun is count and when refemring to the
language, it is mass. Words such as authority (quality/person) constitute still another
example of this kind. The word authority has two distinct senses. When we are
~talking about special knowledge as in write with authority it is non-count; whereas
when we are talking about a person with such knowledge as in gn quthority on nuclear
physics, it is count.

In sum, ambiguities between a mass and a count meaning are likely to be found in
wood/tree, meat/animal, language/people, and quality/person words. The same noun
can be treated as two words. One thai denotes the discrete object is count and the
other that denotes the constituent substance or a peculiar quality of the discrcte object
is mass.

Words such as those we discussed above are clearly ambiguons between two
‘distinct meanings. Other words may not involve an ambiguity, but they have both the
count and the mass use. Candy, hair, stone, and wine are some examples. When we
are talking about the substance or matenal, they are mass; wheréas when we are
referring to shaped pieces (instances) or kinds of the substance, they are count. For
example:

(23} a. Do you wanl a candy?
b. Candy is bad for your ieeth.

{24} a. I found a hair in my soup.
b. The cat has a fine coar of hair,
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{25) a. The box is filled with heavy stones,
b. The wall was made of stone.

(26} a. Thisisa French wine.
. 1do not drink wine.

We have identified two groups of words which can be readily used either in a count or
a mass sense. Let us state this fact in the form of a conversion principle:

Principle 1

Mass ~ Count: If a noun is used to denote a discrete entity, it is count; if it is used to
denote the material content or a particular quality of the discrete entity,
it is non-count.

On the other hand, there are many words like car and book which we believe
behave only as count nouns. Notice that these words are 100% countable according
to Allan’s computatior. But some linguists point out that given the right context,
they can be used as non-count. For example, Gleason (1965} asks us to imagine an
animal story “featuring a mother termite concerned over her child: ‘Johnny is very
choosey about his food. He will eat book, but he won’t touch shelf® ” (pp. 136-37).
In this context, the mother termite is talking about the material constituents of books
and shelves, but not the discrete objects themselves. Thus book and shelf beocme
mass nouns. Conversely, a word like ice cream which we think behaves typically as a
mass noun c¢an be used countably. Gleason says, *..a customer, unable to choose
between two brands, might say: ‘I don’t care; one ice cream is as good as another’”
(p. 136). Here ice cream is used as a count noun. He concludes that “‘every noun,
given the right context, can occur in either type of usage, count or mass” (p. 137).

Is it true that every mass noun can be used as a count noun and every count noun
can be used as a mass noun? Different linguists (or philosophers) hold different posi-
tions. Pelletier (1979, p. 5) says:

I think that reflection on the example of above, [How many oatmeals are in your
kitchen?] provides convincing evidence that every word which would normally be called
a mass noun can be given a perfectly clear count sense.

Pelletier, like Gleason, holds that every mass noun can be converted into a count noun
and also the opposite. He describes a thought experiment to persuade people that all
count nouns can be given a mass sense. He asks us to imagine a machine, the Universal
Grinder. The machine can chop and grind anything, say dogs, cats, cars, or men. Put
whatever cbject you wish to, say a porcupine, into one end of the grinder. After the
grinder chops the porcupine and grinds it up into a homogeneous mass and spews it
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onto the floor from the other end of the grinder, ask what is on the floor. The answer:
“There is porcupine all over the floor’’. In real life, we do sec porcupines, raccoons,
and squirrels sinashed by cars,

Pelletier is aware that his machine can only grind physical objects, and that there
remains a problem for those count nouns which denote non-physical things. Never-
theless, he argues that the thing to be put into the grinder does not have to be grind-
able. If 2 normal sentence can use a count noun in a mass sense, his theory holds. His
example is the word rumber. He uses this count noun in a mass sensc in the following
sentence: (p. 6)

(27) If numbers were physical objects, and if we were to put one into the grinder, there
would be number ull over the floor.

1 will leave this issue to philosophers. ¥ think that it is reasonable to say that practical-
ly every count noun which denotes an ohject with material content can be used in a
mass sense, given the right context, that is, when we use the word to refer to the
material constituent or the mass of the objcct, znd not to the discrete object itself. 1
agree with Ware’s (1979, p. 19} position:

1 do not think that all homophones with countl occurrences have mass occurrences and
vice versa. Words for orifices seem (o have count but not mass occurrences, €.g. opening,
hole, mouth,

QObviously there is no mass of openings or hoies to be talked about. Furthcrmore,
some nouns that denotc abstract entities ke idea, trick, and characteristic, do not
seem to have mass oceurrences.

To L2 lcarners, the conversion of count nouns into mass nouns causes fower
troubles, because after all cases like

(28) a. The scrapyard is full of ssashed car awaiting recyeling.
b, Emmy finds squashed spider more nauscous than the thing alive.
{Allan, 1980, p. 547}

are unusual and if the count ncuns remain count, as shown in (29):

{29) a. The scrapyard is full of smashed cars awaiting recycling.
b. Emmy findse squashed spider more nauscous than the thing alive.

the sentences still are well-formed. In other cases like There was cat all over the road
describing, ¢.g. 4 poor cat smashed by a car, failurc to convert the count noun inio a
mass noun, 4s in There was a cat all over the road, might lead Lo a semantic anomaly,
However, if we state the conversion principle as follows: '
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Principle 2:

Count=P Mass: When we are talking about ihe undifferentiated mass of a physical
object, but not the discrete object itself, the count noun denoting that
physical object should be converted into & mass noun,

since the principle is well-defined, it will not cause toe much confusion for L2 learners.

The conversion of mass nouns into count nouns, on the other hand, is much more
troublesome, First of all, is it true that every mass noun can be used as a count noun?
Recall the Universal Grinder that turns count nouns into mass terms. Bach (1986, p.
10) suggests an opposite switch, a machine called the Universal Packager that is capable
of packing all substances info precise units and hence converting mass ncuns into count
nouns. In the mass/count conversion, the Universal Packager is supposed to have the
same function as the Universal Grinder, though working in the opposite direction.
However, it turns out to be not so plausible.

Since every concrete count noun denotes something with certain material con-
tent, when we want to talk about the mass instead of the form denoted by a count
noun, the right context arises for the mass use of the count noun, On the other hand,
in a hypothetical world, we can have each and every subsiance dencted, e.g. by water,
millc and gold, whatever you wish, packed by the Universal Packager., When the new
product, say milk, comes out of the packager, what will be the answer to the question,
“What is on the floor?” Will we answer “There is a milk on the floor’” (or “There are
milks on the floor'”}? Probably not; instead, the answer most likely will be “There is
an X of milk on the floor” {or “There are Xs of milk on the floor”). A unit word
X, e.g. bottle, giass, is still needed,

Why would the Universal Packager fail to convert mass nouns into count nouns?
If we do not take mifk as denoting a bounded and discrete object, we will not use it
as a count noun. The Universal Packager can pack everything in natural units, butf our
intuition about word meaning does not change accordingly.

Although the Universal Packager fails to convert mass nouns into count nouns,
the real world packaging does create some conversions. Jespersen (1924) claims that
“in English, bread is only a massword™ (p. 200). In the twenties, probably it is true
that bread was used only as a mass-word, but it is no longer true now. We find a lot of
occurrences of bread as a count noun. To cite only a few of them:

(30} a. coatse whole grains blended in ¢ light brown bread (American Meal Bread ad)
b. For many vears, sc-called “diet”™ breads attempted to create the itlusion...
{Story of Less, Schafer’s Less ad)
c.  Try the other delicious Country Hearth Breads. Look for the Country Hearth
family of quality variely breads.,. (Country Hearth ad)
d.  The Mackinaw Milling Co. family of breads are all made with...to create 2 line
of breads which can please..Whichever variety vou choeose, feel confident
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yow're serving @ bread whicl...(Mackinaw Milling Co. ad)

From the occurrences of dread in singular and plural forms in (30), it might be inferred
that bread manufactures perceive the different kinds of bread they produce as well-
defined, individuated objects, and the word bread is used countably to denote one
“kind" of the mass.

Bread makers use @ bread to denote a kind of bread and breads tor different
kinds of bread. L2 learners, however, cannct jump to the conclusion that all instances
of “X kind(s} of bread” can be reduced to "X bread(s)”, as in

(31} I went 1o Shop-Rite today. 71 bought two breads.

To some people, {31} is just ungrammatical. To some, atl best fwo hreads can be
taken as “two loaves of bread”’, but not “two kinds of bread”.

Bread denotes something edible and it can be packed into discrete units. Words
denoting abstract entities such as sirgery also can gain an individuation in their mean-
ing and eveniually gain a count sense. As T mentioned in section 2, suzgery as opposed
to operation is a non-count noun. However, in a survey that I did in which 50 subjects
were asked to choose the onc they preferred in the following pair of sentences:

{32} a. 1 had & CHQLELITHOTOMY, which is surgery, and it was covered under
surgical expense benefits.
b. [ had a CHOLELITHOTOMY, which is a surgery, and it was covered under

surgicai expense benefits.

25 subjects chose {a} and 25 chose (b}, In random intervicws following the survey, one
subject said that the reason he chose (2} was that surgery is basically a mass noun.
Another subject said that he chase (b) because CHOLELITHOTOMY is not a term for
SUTEETY In gener;ﬂ. Still another one said that aithough ho chose (a), (b) was possibic.
A last one said that he chose {a), hul he preferred o form of surgery than surgery
alone. From this equal split of 23 te 25 and the comments madc by the subjects, |
conclude that surgery is undergoing a semantic change, moving from being mass to
count.

In fact, a health insurance company worker, while she was explaining that dif-
ferent types of surgery arc covered under different policics, did say this to me: "I
you have gnother surgery. ", MNon-inedical people probably would say, “If you have
surgery again..”’ in this case. T think 1o hezlth insutance workers, the word surgery
has gained a discrete refercnce through constant apolication of the word 1o well-
defined categories of surgery, exactly like the word bregd to bread manufacturers.

In addition to bread and surgery, the real world “packaging” has brought sbout
other count uses of mass nouns. In restaurant orders, we have occurrences of “a large
coke™, ¢

Lia

a small coffee”, or siimply “two coffees”, “three cokes”, etc, This is because

Lm..
N
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in such places as fast food stands or stores, these drinks typically come in cups. In-

stead of saying “swo cups of coffee” or “three cups of coke ™, the elliptical forms,

“two coffees’™ or “three cokes” are used. However, when we are at an American

friend’s house, the host/hostness will not ask, “Would vou like @ coffee?” {meaning

“Would vou like a cup of coffee?’}; nor will we answer, “Yes, a small coffee, please™.

The elliptical forms presumably are not used in these contexts because these drinks”
are not packed in some standard containers at home.

Summarizing the above discussion of bread, surgery, coke and coffee, let us state

another converston principle:
Principle 3:

Mass#DCouni: In commercial contexts, a mass noun, through constant application of
' the noun to well-divided instances of the referent, can gain an individua-
tion for its reference and thus can be used as 4 count noun.

In this section, the complications of the binary mass/count distinction are
resolved by treating the uses of a noun and not the noun itself as being mass or count.
In contrast to Allan’s approach, the countness of a neun is not treated as a question of
percentage of countability, Instead, a noun is taken as being basically count (e.g.
book, cary or mass {e.g. bread, surgery) or both {e.g. chicken, authority), and then a
conversion principle is offered to account for its converse use. Three such principles
have been offered. '

In the preceding section, it was noted that Allan identified a group of abstract
nouns {e.g. sincerity) which are basically mass, but admit the singular article afn) when
they co-occur with a restrictive modifier. Let us state this in the form of a conversion
principle:

Principle 4;

Mass -§?Coum: Abstract poa-count pouns such as a derived nominal or a name of a
subject for study, when modified by a restrictive modifier, admit afn),
which is the equivalent of ¢ kind of in this context,

5. IMPLICATIONS FOR L2 LEARNERS, What implications does the preceding
discussion have for L2 tearners in their choice of English articles? In English, there is a
systematic distinction in the choice of articles between two classes of nouns, count and
mass: '

COUNT MASS
the + N/Ns the + N
et N ¢+ N
0+ N3
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For mass nouns the choice is limited between ¢ and the whereas for count nouns it is
more complicated. It has to be decided first whether the noun in question is singular
or plural. For singulars, the choice is between a and the and for plurals ¢ and the.
¢ or ¢ on the one hand indicates indefiniteness and the on the other hand indicates
definiteness. In the above chart, we see only one overlapping, i.e. in the form tize N,
We cannot tell whether a given noun is used countably or uncountably just by looking
at the form the N. In other words, only in cases where a noun is definite and at the
same time it is singular, we do not have to make a distinction between count and mass
nouns for the choice of articles. Except for cases like this, the question “Is this noun
count or mass?’’ has to be answered first. '

L2 learners might want to answer this guestion through some kind of logical
inferrence. A first hypothesis might be that nouns referring to concrete objects (e.2.
“milk™, “book’) are count and nouns referring to abstract entities {e.g. “idea”,
“music”) are non-count, But this is not true of English. A second hypethesis might be
that only those nouns referring to discrete, differentiated concrete objecis {e.g.
“lettuce”, “pillow’) are count. But this is not true, either,

In English, even for two concrete {material) nouns referring to objects with
similar shapes, one can be count and the other mass. The same thing happens with
abstract nouns. For two gbstract nouns with similar meanings, one can be mass and
the other count. This arbitrariness is exemplified as follows:

CONCRETE ABSTRACT
COUNT MASS COUNT MASS
carrots asparagus suggestions advice
noodies spaghetti proofs evidence
beans rice jobs work
chairs furniture ideas knowledge

The arbitrariness of noodle being a count noun and spagherti a mass noun, on the one
hand, and idea being count and knowledge mass, on the other hand, suggests that the
mass/count distinction is not simply in the nature of the things referred to. Being mass
or count is part of the meaning of a word. A count word includes an individuation in
its meaning, but not a mass word. '
Furthermore, Allan’s eight levels of countability suggest that the mass/count
distinction is not a simple binary one, The traditional view that a noun is either
[tcount] or {-countl is inadequate. Not all English nouns have a fixed feature
[+count] or [-count]. There are words like oak which are both [+count} and
[-countl. There are words like heat which are [-count} except that they admit a(n/
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under cerfain circumstances.

The discussion of mass/count conversion shows that every concrete count noun
can be converted into a mass noun {recall the Universat Geleder), but not vice versa.
Gieason (1965), and Pelletier {1679) went wrong in saving that cvery mass noun can

be converied into a count noun. Bach’s {1986) University Packugor cannet converl
gvery mass noun to count, cither. The use of & mass noun which is (% countable as a
count noun occeurs only when the word has changed in its meaning to include an in-
dividuation for its reference. This language change usuaily happeus fivst within a circle
of a particular trade like brcad manufacturers or heaith insurance company workers.
We find expressions Iike *“so-called diet brcads” and “coarse whole grains blended in
a light brown bregd” in bread ads. But it will be odd il' | say “T bought two breads
today” to my friend. Teople of a pariicuiar tradc sometimes use imass nouns countably
where others do not.

We have already had established expressions bBke “two coffces” and “a large
coke” in restaurant orders. This, neverthcless, does not entail that wo can usc mass
nouns like milk and coffee countably in any coniext. Forexample it will be ungram-
matical, or at least strange, to say “This morning ! drank a large nulk at bome”.

This restriction in the conversicn of mass nouns to count nouny explains why a
blind applicaticn of Kaluza’s (1981} rule that “practically every U (uncountable noun}
can be converted inte a C (count noun} with one of the following meaning: a) a unit
of, b) a kind of, and ¢} an instance of” (p. 10}, can lead to the wrong choice of articles
for words like furnitire and equipment, 45 in

(33} a. *He bought an cxpensive lurniture yesterday.
b. *We need a new equipment in our lab.

To conclude this paper, I now lurn to present an overall picture of the mass/
count distinction as I see it for L2 lcaming. [ start with common sense. The things
in the world can be divided into two catcgorics, abstract and non-ahsivact. Abstract
entities do not have physical fonms and hence do nol cccupy any space. Since they do
not have physical forms, we cannot count them perceplually. Therelore, let us assume
initially that nouns which denote abstract entites are all nown-count. On the cther
hand, non-abstract entities can be divided inle two subcategorics. One contains dis-
crete, differentiated objects, i.c. objetts with definite outlines or precise limits. The
other contains substances or masses that do not have natural boundaries. The former
is presumably countahle and not the latter. Therelore-fet us assume that nouns which
denote the former are all count and nouns which dencte the latter are all non-count.
In brief, the three assumptions that 1 made are:

Assumption 1: Nouns which denote discrcle objects are all count.

Assumption 2 Nouns which denote undifferentiated substances are all non-count.

Assumption 3: Nouns which denote abstract endites are all non-count.
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Obviously, all of the three assumptions need to be modified. Assumption 1 that
nouns which denote discrete objects are all count has 4 problem, There are nouns the
referents of which come as discrete objects, but they are always non-count. Asparagus,
spaghetti, rice, lettuce, furniture, and equipment are some examples, The last two
are superordinate category terms which tend to become mass, as Markman’s (1985)
claimed. Yetin English we still have a lot of superordinate terms which are count such
as vehicles, and toys. Under our assumption, nouns which dencte discrete objects
should be count. Hence we still have to treat words like furniture as exceptions, al-
though they have good reason to be mass, if Markman is right. It is suggested that for
these exceptions, the learner learn each noun together with a unit word that it goes
with, e.g. a grain of rice, a head of lettuce, an article of furniture. The countness of
this type of noun has to be learned by rote,

_ If the above-mentioned exceptions can be taken care of, Assumption ! and 2 can
stand as they are, if we do not regard a noun as having a fixed feature of [+count] or
[-count}. It is the sense that a noun has, not the noun itself, that determines whether
it is count or mass. We Have nouns with two distinct senses, such as chicken and oak.
We have nouns with both the count and the mass use, such as candy and hair. We have
nouns which are normally count but given the right context can be used uncountably,
such as car and book. For all these nouns, when used to denote a discrete object
itself, they are count; whereas when used to denote the material constituent or the
mass of the discrete object, they are mass, as made clear in Conversion Principles | and
2. :
Although we have expressions such as ¢ large coke and a light brown bread,
assumption 2 that nouns which denote undifferentiated substances are all non-count is
still valid, because Conversion Principle 3 states that only in commercial contexts do
these expressions occur.

Parallel to our assumption about discrete objects, Assumption 3 that nouns which
denote abstract entities are all non-count has a problem, teco. There are nouns which
denote abstract entities, but they are always count. Tricks, ideas, and characteristics
are some examples. It is suggested that the learner learn the plural form Ns or the
singuiar form afr) N, and not simply N, for these words. This is another type of noun
‘whose countness has to be learned by rote. _

There is a second problem for Assumption 3. Alfan (1980) identified a group of
abstract nouns which are normally non-count, but when they are modified by a restric-
tive adiective or relative clause, they admit the singular article ¢fn/, which is equivalent
to a kind of in this Kind of context. This group of nouns inctudes names of subjects
for study like physics and chewiistry, and derived nominals like sincerity, admiration
and heat., To maintain Assumption 3, we have to treat this group of words as excep-
tions. Conversion Principle 4 takes care of it.

Nevertheless, not all derived nominals that are modified by restrictive modifiers
allow afn) Information, evidence, and knowledge are some examples. These are
ahstract nouns which are always non-count, exactly the opposite of those abstract
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nouns like tricks and ideas which are always count. They have to be learned by rote.
Again, it is suggested that learning the word together with a unit word that it goes with
(e.g. a piece of evidence) might be of help.

For the rest of the abstract nouns, they are all non-count except for two situa-
tions. First, therc is a group of nouns which has two distinct senses. Onc of the two
senses denotes a certain abstract quality, and the other denotes a person that possesses
this qualily. Authority and gossip are two examples. When a noun is used to denote
the person, it is count; when it is used to denote the quality, it is non-count. In fact,
if we treat this kind of noun as being ambiguous in the sense that what we have is two
different words insicad of one, then they are not a problem for our assumptions,

The second situation where abstract nouns are not non-count is when separable
instances of a certain quality or action, and not the quality or action itself, are referred
to. Suggestion, discussion; difficulty, and experience are some examples of words
that have both the count and the non-count usc. Unlike concrete nouns such as
candy and hair, which also have both uscs, for abstract nouns, it is harder to decide
when to use which. The general principle is that when things are done at different
times or are of a different nature, they are individuated and hence the count use is
the right choice. For example:

{34) a. Afler several long discussions, we finally reached the conclusion that...
b. Chomsky’s discussions of transformational grammar and the theory of govern-
ment and binding werc boring.

On the other hand, consider:

(35) a. Whal implications does the preceding discussion have for L2 learners in their
cheice of English articles?

b.  What implications do all the preceding discussions have for 1.2 learners in their
choice of English articles?

The context for (35) is that I am writing a thesis on the topic of English articles. Since
the discussion is on one topic and done by one person and within a single unit,
sentence (a}, the non-count use, is a better choice.

In brief, the whole picture of the mass/count distinction presented above is as
follows: '
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Nouns
Abstract ”rete
[-count]
disCrete mass
[+count] [-count]
gxceplions: exceptions:
a)  tricks, ste, rice, etc.
b) e sfcerity, sic.
c)  discussions, eic,
NOTES

1. Iam grateful to Barbara Abbott for giving me this example.
2. Again my thanks go to Barbara Abbott for this example.
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